
181. Match List I with List II and select the correct answer using the code 
given below the lists

List I (Geological Time Scale) List II (Life - form) 
A. Pleistocene प्लेस्टोसीन 1. Mammals स्तनधारियों
B. Paleocene पैललयोसीन 2. Human genus मानव जातत
C. Permian पलमिअन 3. Invertebrates  अकशेरूकीय
D. Cambrian कैं ब्रियन 4. Frogs  मेंढ़क
Codes 

A B C D A B C D
(a) 2 1 4 3 (b) 2 4 1 3 
(c) 3 4 1 2 (d) 3 1 4 2 



182. Which of the following is the correct order of elements of earth’s 
crust in decreasing order of their percentage? 
पथृ्वी की पपडी के तत्वों का उनके प्रततशत के घटते क्रम में तनम्नललखित में से 
कौन सा सही क्रम है?

(a) Aluminium, iron, silicon, oxygen 
एल्यूमीतनयम, लोहा, लसललकॉन, ऑक्सीजन

(b) Oxygen, aluminium, iron, silicon 
ऑक्सीजन, एल्यूमीतनयम, लोहा, लसललकॉन

(c) Iron, aluminium, silicon, oxygen 
लोहा, एल्यूमीतनयम, लसललकॉन, ऑक्सीजन

(d) Oxygen, silicon, aluminium, iron 
ऑक्सीजन, लसललकॉन, एल्यूमीतनयम, लोहा



183. Among the following sedimentary rocks, which one is of organic 
origin? 
तनम्नललखित अवसादी चट्टानों में से कौन कार्ितनक मलू की है?
(a) Gypsum / जजप्सम
(b) Limestone / चूना पत्थि
(c) Nitre / तनतिे
(d) Rock Salt  / काला नमक



184. Granite and Basalt are the examples of which of the following?
गे्रनाइट औि रे्साल्ट तनम्नललखित में से ककसके उदाहिण हैं?

(a) Sedimentary rocks  / अवसादी चट्टानें
(b) Metamorphic rocks  / रूपाांतरित चट्टानों
(c) Igneous rocks  / अजननमय पत्थि
(d) Calcareous rocks  / कालकारिओउस चट्टानें



185. Assertion (A) : Because of the Sun’s UV radiation, Earth’s upper 
atmosphere is partly (0.1% or less) ionised plasma at altitudes of 70-1500 
km. दावा (A) : सयूि के यूवी ववककिण के कािण, पथृ्वी का ऊपिी वायुमांडल आांलशक रूप 
से (0.1% या उससे कम) आयतनत प्लाज्मा है जो 70-1500 ककमी की ऊां चाई  पि है 
Reason (R) : This region, ionosphere, is coupled to both the 
magnetosphere and the neutral atmosphere. कारण (R) : यह क्षेत्र, 
आयनोस्फीयि, मनैनेटोस्फीयि औि तटस्थ वाताविण दोनों से जडुा है 

Codes 
(a) Both Aland R are correct and R is the correct explanation of A 
(b) Both A and R are correct but R is not the correct explanation of A 
(c) A is true, but R is false
(d) A is false, but R is true



186. Rocks resulting from the crystallisation of magma are 
मनैमा के कक्रस्टलीकिण से उत्पन्न चट्टानें हैं

(a) Igneous  / इननेओस 
(b) Metamorphic  / मेटामॉिकफक 
(c) Sedimentary  / सेडीमेंटिी 
(d) Migmatites  / लमगमातीतेस 



187. An upfold in rock is 
िॉक में एक अपफोल्ड है

(a) Graben  / गिरे्न 
(b) Horst  / होस्टि 
(c) Anticline  / एांटीकलाइन
(d) Syncline / लस ांकलाइन



188. Which of the following elements are found in highest and lowest 
quantities respectively in the crust of the Earth? 
तनम्नललखित में से कौन सा तत्व पथृ्वी की पपडी में क्रमशः उच्चतम औि 
तनम्नतम मात्रा में पाया जाता है?

(a) Oxygen and silicon / ऑक्सीजन औि लसललकॉन
(b) Calcium and sodium  / कैजल्शयम औि सोडडयम
(c) Sodium and magnesium  / सोडडयम औि मनैनीलशयम
(d) Oxygen and magnesium  / ऑक्सीजन औि मनैनीलशयम



199. Which of the following statements relating to earthquakes is/are 
correct? 
भकूां प के सांर्ांध में तनम्नललखित में से कौन सा/से कथन सही है/हैं?
1. The point of origin of earthquake is called epicenter. 

भकूां प की उत्पवि के ब्रर्ांद ुको उपरिकें द्र कहा जाता है 
2. The lines joining the places which were affected earthquake at the 

same point of time are called homoseismal lines. 
उन स्थानों को लमलाने वाली िेिाएँ जो एक ही समय में भकूां प प्रभाववत हुए थे, 
समललांगी िेिाएँ कहलाती हैं 

Select the correct answer using the codes given below 
नीचे ददए गए कूट का प्रयोग कि सही उिि चुतनए
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) Neither 1 nor 2 



190. Consider the following statements
1. Weathered rock with change of volume is called saprolite.

मात्रा में परिवतिन के साथ अपक्षतयत चट्टान को सपै्रोलाइट कहा जाता है 
2. The process of landscape formation by deep weathering followed 

by stripping of the saprolite is called etching. 
गहिे अपक्षय द्वािा भदूृश्य तनमािण की प्रकक्रया के र्ाद सपै्रोलाइट को अलग 
किना नक़्काशी कहलाता है 

Which of the statements given above is/are correct? 
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2 



191. Consider the following statements
1. The largest volcano in our Solar System is found on Earth.

हमािे सौि मांडल का सर्से र्डा ज्वालामिुी पथृ्वी पि पाया जाता है 
2. A volcanic eruption must be accompanied by
an earthquake. ज्वालामिुी ववस्फोट के साथ अवश्य होना चादहए भकूां प 

Which of the statements given above is/are correct? 
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2 



192. Match List-I with List-II and select the correct answer using the codes 
given below the lists सचूी-I को सचूी-II से समेुललत कीजजए औि सचूचयों के नीचे 
ददए गए कूट का प्रयोग कि सही उिि चुतनए

List I (City)  List II (Earthquake Zone) 
A. Kolkata 1. Zone V 
B. Guwahati 2. Zone IV 
C. Delhi 3. Zone III 
D. Chennai 4. Zone II 
Codes 

A B C D A B  C D
(a) 3 2 1 4 (b) 3 1 2 4 
(c) 4 1 2 3 (d) 4 2 1 3 



193. Earthquakes are caused by 
भकूां प के कािण होते हैं

(a) Tectonism  / टेक्टोतनस्म 
(b) Denudation  / अनाच्छादन
(c) Earth revolution  / पथृ्वी क्राांतत
(d) Earth rotation / पथृ्वी का घूमना



194. Surface waves in earthquake are considered more disastrous. Pick 
correct statements regarding it. भकूां प में सतही तिांगों को अचधक 
ववनाशकािी माना जाता है  इसके र्ािे में सही कथन चुनें 

1. S-waves are shear waves. S-तिांगें अपरूपण तिांगें हैं 
2. S-waves can travel only through solid. 

S-तिांगें केवल ठोस में ही गमन कि सकती हैं 
3. S-waves are slower than P-waves. 

S-तिांगें P-तिांगों की तुलना में धीमी होती हैं 
4. Speed is typically around 60% of that P waves. 

गतत आमतौि पि उस P तिांगों का लगभग 60% है 
(a) Only 1 (b) 2 and 3 
(c) 1, 2 and 3 (d) All of the above 



195. Regarding Abrasion, a weathering process, choose the correct 
statement(s). 
अपक्षय, अपक्षय प्रकक्रया के सांर्ांध में, सही कथन चुनें 

1. It is a wearing down process related only to fluvial erosion. 
यह केवल नदी के कटाव से सांर्ांचधत एक ििार् होने वाली प्रकक्रया है 

2. Friction is the prime force responsible for Abrasion. 
घर्िण घर्िण के ललए जजम्मेदाि प्रमिु र्ल है 

3. Attrition is same as Abrasion in all respect. 
एदिशन सभी तिह से एिेशन के समान है 

Codes 
(a) Only 1 (b) Only 2 
(c) Only 3 (d) 2 and 3 



196. Match the following 
List I (Land Forms) List II (Feature) 
A. Alluvial cone 1. Generally formed in acid region 

जलोढ़ शांकु आम तौि पि अम्ल क्षेत्र में र्नता है
B. Alluvial fan 2. When stream exudes out of constricted course 

जलोढ़ पांिा जर् धािा सांकुचचत मागि से र्ाहि तनकलती है
C. Alluvial flat 3. At border of river flat tract 

जलोढ़ फ्लटै नदी के समतल पथ की सीमा पि
D. Alluvial terrace 4. Paired in some cases on opposite sides

जलोढ़ नदी के पानी के पथ की सीमा पि
A B C D A B C D A B C D A B C D
(a) 1 2 3 4 (b) 3 2 1 4 (c) 4 1 3 2 (d) 1 4 3 2 



197. Match the following / तनम्नललखित को लमलाएां
List I (Wave) List II (Characteristic) 
A. Body waves 1. Travel through interior of Earth 

शिीि की तिांगें पथृ्वी के आांतरिक भाग से यात्रा किें
B.   Surface waves 2. Decay’s more rapidly, more destructive

सतह तिांगें क्षय अचधक तेजी से, अचधक ववनाशकािी
C.   P waves 3. Compressional waves, longitudinal in

nature, travel through all media 
P तिांगें सांपीडन तिांगें, अनुदैर्घयि in प्रकृतत, सभी मीडडया के माध्यम से यात्रा

D.  S waves 4. Transverse waves, displace ground
perpendicular to direction of propagation 

S तिांगें अनुप्रस्थ तिांगें, भूलम को ववस्थावपत किती हैं प्रसाि की ददशा के लांर्वत
A B C D A B C D A B C D A B C D 

(a) 1 2 3 4 (b) 3 2 1 4 (c) 4 1 3 2 (d) 3 1 2 4 



198. Match the following  / तनम्नललखित को लमलाएां
List I (Fault Type) List II (Description) 
A. Strike slip 1. Offset is predominantly horizontal to fault trace

स्िाइक जस्लप ऑफसेट मखु्य रूप से फॉल्ट िेस के ललए क्षैततज है
B. Dip-slip 2. Offset is predominantly perpendicular to fault trace 

ददप -जस्लप ऑफसेट मखु्य रूप से गलती िेस के लांर्वत है
C. Oblique-slip 3. Combines strike and dip slip 

ओजललक-जस्लप स्िाइक औि डडप जस्लप को जोडती है
D. Transform fault 4. Special class of strike slip 

िाांसफॉमि फॉल्ट स्िाइक जस्लप का ववशेर् वगि
Codes 

A B C D A B C D A B C D A B C D 
(a) 1 2 3 4 (b) 1 4 3 2 (c) 3 2 1 4 (d) 4 1 2 3 



199. Mountain building is very slow process, that take place through 
multiple ways. Choose which are included. 
पवित तनमािण र्हुत धीमी प्रकक्रया है, जो कई  तिीकों से होती है  चुनें कक कौन 
शालमल हैं 

1. Plate tectonics  / प्लेट टेक्टोतनक्स
2. Folding and faulting  / फोजल्डांग औि फॉजल्टांग
3. Volcanic activity  / ज्वालामिुी गततववचध
4. Igneous intrusion  / आननेय घुसपैठ

(a) 1 and 4 (b) 1 and 2 
(c) 1, 3 and 4 (d) All of these 



200. Processes that lead to different topographic features are 
ववलभन्न स्थलाकृततक ववशेर्ताओां की ओि ले जाने वाली प्रकक्रयाएां हैं
1. Tectonism / वववतितनकी
2. chemical dissolution  / िासायतनक ववघटन
3. periglacial processes  / पेरिनलेलशयल प्रकक्रयाएां
4. mass wasting  / र्ड ेपैमाने पि र्र्ािदी

(a) 3 and 4 (b) 1, 3 and 4 
(c) 2 and 3 (d) All of these 



181. (a) 191. (d)

182. (d) 192. (b)

183. (b) 193. (a)

184. (c) 194. (d)

185. (d) 195. (b)

186. (a) 196. (a)

187. (b) 197. (a)

188. (a) 198. (a)

189. (b) 199. (d)

190. (c) 200. (d)



Q. 181.



Q. 191.


